Chapter 11 – Multiple Choice - Questions
1. According to Dawson there are internal and external triggers resulting in change. Choose the table below (from options 1-4) that correctly reflects these changes in Column A (internal) and B (external).

1

	Column A
	Column B

	Internal triggers to change
	External triggers to change

	Technology

the use of new machinery and tools and the associated way work is designed within organisations to produce goods and services
	Political

government laws and regulations can impact on an organisation

	Changing nature of customers

the needs of consumers change constantly necessitating new products and services


	Economic

no business functions in isolation and economic growth, interest rates and the level of unemployment can impact on the way business is conducted

	People

new HRM initiatives such as team-based working arrangements necessitate the retraining and multiskilling of employees
	Social

organisations consist of people and changes in their lifestyle can impact on how they are managed

	Administrative customers

the restructuring of administrative processes and the redefining of authority relationships must be undertaken to accommodate new work practices
	Technology

the rate of technological developments can also impact on organisations e.g. the computerisation of business processes
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	Column B

	Internal triggers to change
	External triggers to change

	Political
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	Technology
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	Social

organisations consist of people and changes in their lifestyle can impact on how they are managed
	People

new HRM initiatives such as team-based working arrangements necessitate the retraining and multiskilling of employees

	Changing nature of customers

the needs of consumers change constantly necessitating new products and services


	Economic

no business functions in isolation and economic growth, interest rates and the level of unemployment can impact on the way business is conducted

	Administrative customers

the restructuring of administrative processes and the redefining of authority relationships must be undertaken to accommodate new work practices
	Technology

the rate of technological developments can also impact on organisations e.g. the computerisation of business processes


3

	Column A
	Column B

	Internal triggers to change
	External triggers to change

	Political

government laws and regulations can impact on an organisation
	Technology

the use of new machinery and tools and the associated way work is designed within organisations to produce goods and services

	Economic

no business functions in isolation and economic growth, interest rates and the level of unemployment can impact on the way business is conducted
	Changing nature of customers

the needs of consumers change constantly necessitating new products and services



	Technology

the rate of technological developments can also impact on organisations e.g. the computerisation of business processes
	Administrative customers

the restructuring of administrative processes and the redefining of authority relationships must be undertaken to accommodate new work practices
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new HRM initiatives such as team-based working arrangements necessitate the retraining and multiskilling of employees
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organisations consist of people and changes in their lifestyle can impact on how they are managed


4

	Column A
	Column B

	Internal triggers to change
	External triggers to change

	Technology

the use of new machinery and tools and the associated way work is designed within organisations to produce goods and services
	Political

government laws and regulations can impact on an organisation

	Changing nature of customers

the needs of consumers change constantly necessitating new products and services


	Economic

no business functions in isolation and economic growth, interest rates and the level of unemployment can impact on the way business is conducted

	Social

organisations consist of people and changes in their lifestyle can impact on how they are managed
	People

new HRM initiatives such as team-based working arrangements necessitate the retraining and multiskilling of employees

	Administrative customers

the restructuring of administrative processes and the redefining of authority relationships must be undertaken to accommodate new work practices
	Technology

the rate of technological developments can also impact on organisations eg the computerisation of business processes


2.
Eccles identified a number of possible causes of resistance to change from employees. Complete the missing words in the list below by choosing the option 1-4 which correctly reflects these missing words.

-
fear of being unable to cope with the new (a) _________

-
the change threatens to destroy existing (b) __________ arrangements

-
new (c) __________ and practices are repellent

-
the willingness to (d) ____________ is low

1
(a) structure


(b) departmental


(c) beliefs


(d) change

2
(a) situation


(b) social


(c) values


(d) change

3
(a) structure


(b) departmental


(c) beliefs


(d) adapt

4
(a) situation


(b) social


(c) values


(d) adapt

3. When attempting to overcome the barriers of change in terms of creating a context for change, it is important that you ___________ .


1
identify and eliminate obstacles


2
provide resources


3
sell the change



4
involve all employees

4. The Strategic Organisation Change framework (SOC) addresses three important questions. Which of the following can be included?

a
“Where are we now?”

b
“Where do we want to be?”

c
“Why do we need the change?”

d
“How will we implement those changes and build in dynamism?”

e
“What are the time frames?”



1
a, b and c



2
b, d and e



3
a, c and d



4
c, d and e

5.
As part of the implementation process of the Strategic Organisation Change (SOC) framework one key step in getting ready for the change is to __________________.

1
secure the necessary resources needed for the process or find ways to work with limited resources


2
work effectively with the political dynamics in the company 

3
establish how different individuals in the organisation feel about the 
change 

4
pace and time the change 

6. The following are characteristics of a learning organisation:

a learning is accomplished by the organisation as a whole

b employees within the organisation recognise the importance of current and future success of ongoing learning

c learning is a continuous, strategically used process that is integrated and runs parallel to work

d there is a focus on creatively and generative learning in the organisation

e systems thinking is fundamental in a learning organisation

f an organisation climate exists that encourages, rewards and accelerates individual and group learning

g employees network in an innovative manner that resembles a community both inside and outside the organisation

h everyone is driven by a desire for quality and continuous improvement and lastly

i employees have uninterrupted access to information and data.



1
only a, c, d, f, g and i



2
only b, e and h



3
only a, b, d and g



4
all of the above

7.
One of the benefits of a learning organisation is that the organisation makes greater use of employees at _____________ levels of the organisation

1
lower

2
all

3
higher

4
specific

8.
One of the benefits of a learning organisation is that it increases worker ____________ and __________________. 


1
initiative and drive


2
innovation and knowledge


3
commitment and creativity


4
specialisation and employability

9.
The ______________ is normally the person responsible for overseeing the process of building a learning organisation.


1
Chief Executive Officer


2
Chief Learning Officer


3
HR Director


4
Managing Director

10.
In the Strategic Organisation Change (SOC) framework one of the steps in the implementation phase is to “ready the organisation”, this includes ______________.

1 assess levels of awareness for change

2 gain commitment

3 secure the resources needed

4 all of the above options

11.
The following aspects have to be taken into consideration when trying to understand the current state and to build the future state in the SOC framework:

a strategy

b structure/process

c physical layout

d technology

e other

f culture

g people, politics, practices

h leadership

1 only a, b, c and d

2 only d, e, f, g and h

3 only a, c, e, and g

4 all of the above (a-h) 

12.
___________ can be used by organisations to move from a non-learning mode to a learning organisation. 


1
The SOC framework


2
The Systems learning model


3
The HRM Cube


4
Institutionalised leadership

13.
Which of the following statements regarding the SOC framework is incorrect?
1 To ensure successful change, we need to work effectively with the political dynamics in the company.

2 An effort must be made to establish how different individuals in the organisation feel about the change.

3 Readying the organisation for change will involve securing the necessary resources needed for the process or finding ways to work with limited resources.

4 The internal environment should be continuously assessed and the present state of the organisation should be understood.

14.
The “systems learning organisation model” consists of the following subsystems.

a learning

b organisation

c people

d structures

e knowledge

f technology

g culture

1 a, b, c and d

2 d, e, f and g

3 a, b, c, e and f

4 b, c, d, f and g

15.
When learning refers to changes in skills, insights, knowledge, attitudes and values acquired through self-study this is called _______________.


1
group or team learning


2
the individual level


3
organisational learning


4
adaptive learning

16.
_________________ takes place when you are reflecting on reality on a present, real-time basis, and applying the knowledge towards developing the individual, a group and the organisation.


1
Adaptive learning


2
Anticipatory learning


3
Action learning


4
Organisational learning

17.
_________________ takes place when we reflect on past experiences and then modify future actions. 


1
Adaptive learning


2
Anticipatory learning


3
Action learning


4
Organisational learning

18.
_________________ takes place when you are acquiring knowledge from envisioning various futures and determining ways to achieve that future.  


1
Adaptive learning


2
Anticipatory learning


3
Action learning


4
Organisational learning

19.
_________________ is used to explain and quantify learning activities and events taking place within an organisation. 


1
Adaptive learning


2
Anticipatory learning


3
Action learning


4
Organisational learning

20.
________________ indicates a high level of proficiency in a subject of skill area.


1
Personal mastery

2
Self-directed learning

3
Systems thinking

4
Anticipatory learning

21.
One of the subsystems of the systems learning organisation model is the organisation subsystem. This subsystem comprises four components, namely vision, culture, strategy and structure. Choose the option below which correctly reflects the explanation for each of these terms.

1

	vision = a company's hopes, goals and direction for the future

	culture = an organisation's values, beliefs, practices, rituals and customs

	strategy = action, plans, methodologies, tactics and steps employed to achieve a company's vision and goals

	structure = a company's departments, levels and configurations


2

	vision = an organisation's values, beliefs, practices, rituals and customs

	culture = a company's hopes, goals and direction for the future

	strategy = action, plans, methodologies, tactics and steps employed to achieve a company's vision and goals

	structure = a company's departments, levels and configurations


3

	vision = a brief statement of the purpose of the company

	culture = an organisation's values, beliefs, practices, rituals and customs

	strategy = a deliberate plan of action to guide decisions and achieve rational outcomes

	structure = a company's departments, levels and configurations


4

	vision = a company's hopes, goals and direction for the future

	culture = the mutual beliefs, perceptions and informal obligations between an employer and an employee

	strategy = a deliberate plan of action to guide decisions and achieve rational outcomes

	structure = a company's departments, levels and configurations


22.
Three of the options below are included as a strategy in the people subsystem of the systems learning organisation model. This can be followed to empower and enable people within the learning organisation is to ______________.


1
encourage leaders to model and demonstrate learning

2
develop and use a variety of distance-learning technologies

3
create self-managed work teams

4
balance learning and development needs

23.
According to the systems learning organisation model, a number of steps should be taken for knowledge to play an important role in the learning organisation, these include…


a
share responsibility for collecting and transferring knowledge

b
systematically capture relevant external knowledge

c
organise internal learning events

d
create a corporate climate of continuous learning

e
be creative about thinking and learning

f
encourage and reward innovation

g
train staff in knowledge storage and retrieval

h
create self-managed work teams

i
maximise knowledge transfer across boundaries

j
develop a knowledge base around organisational values and learning 
needs

k
create mechanisms for collecting and storing learning

l
transfer classroom learning to on-the-job utilisation.


m
install electronic performance support systems



1
b, c, d, e, f, g, h, I, m

2
c, d, f, h, j, k, l

3
a, b, c, e, f, i, j, k, l

4
all of the above


24.
The ____________ should have the following characteristics:

●
they must have circulated through the company and must have developed a holistic perspective

●
they must be able to energise the organisation and function as cheer-leaders to build momentum behind the knowledge initiatives;

●
they must be able to withstand a multitude of pressures;

●
they must feel rewarded by the accomplishments of other people; and

●
they must have a good relationship with the head of HR.


1
Chief Executive Officer

2
HR Manager

3
Chief Learning Officer

4
Training Manager

25.
Which one of the following statements is incorrect?

1
Taking the specific steps to build a learning organisation requires well-orchestrated planning on the part of many people in the organisation.

2
In today's highly competitive global environment, the organisation needs knowledge workers more than knowledge workers need the organisation, and the role of the chief learning officer in this process is thus indispensable.

3
Moving from a non-learning to a learning organisation is a simple task.

4
A Chief Learning Officer can oversee the maintenance of a higher level of learning power
in a learning organisation.
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